Exam Code: NS0-210

Exam Name: Network Appliance FAS900 Pre-Sales
Engineer Exam

Vendor: Network Appliance

Version: DEMO



Part: A

1: When installing the DS-14 disk shelf into a loop that contains FC9 shelves the DS-14 must be
the first disk shelf in the loop and must also have the highest shelf ID in the loop.

A.True

B.False

Correct Answers: B

2: The DS-14 disk shelf attached to a filer running Data ONTAP 6.4 supports the following block

checksum disk drives:

A.18GB

B.24GB

C.36GB

D.72GB

Correct Answers: A CD

3: When attempting to hot-swap the LRC on a DS-14 disk shelf, which does not have multipath
connections, you will lose all access to the drives on this disk shelf as well as the ones beyond it.
A.True

B.False

Correct Answers: A

4: The Remote Management cards primary function enables the administrator to access the
FAS900 appliance from a separate site.

A.True

B.False

Correct Answers: B

5: The FAS900 series appliances support the following ethernet network interface cards:
Copper Gigabit Ethernet NIC (with an RJ-45 connection)

Fiber optic GbE NIC

A.True

B.False

Correct Answers: A

6: The FAS940 appliance contains atotalof ___ PCI slots.
A7

B.9

C.10

D.11

Correct Answers: B

7: When running Data ONTAP 6.4 the card sends a message to autosupport recipients to

notify them about potential problems with the system.



A.Remote Management
B.SCSI

C.NVRAM4

D.Support Console
Correct Answers: A

8: The FAS940 appliance contains 3 gigabytes of physical RAM.
A.True
B.False

Correct Answers: A

9: Unlike previous filers, The NIC cards are now hot swappable on the FAS940 and FAS960
appliances.

A.True

B.False

Correct Answers: B

10: Filers are a suite of highly available, storage systems. They are easy to
install, easy to configure and manage, and deliver one of the lowest

A.scalable, networked, TCO

B.consolidated, NAS, ROI

C.scalable, high, acquisition cost

D .fast, NAS, TCO

Correct Answers: A

11: Match the customer need with the application environment where you are MOST likely to find
it.

Data corruption is a significant threat because data is coming from so many outside sources
A.OLTP
B.Data Warehouse
C.Engineering Scientific

Correct Answers: B

12: Match the customer need with the application environment where you are MOST likely to find
it.

Operation is a business-critical, 24 X 7; customer must provide for the highest application
availability

A.OLTP

B.Data Warehouse

C.Engineering Scientific

Correct Answers: A

13: Identify the statement that correctly describes characteristics of direct-attached storage.
A . When compared to NAS and SAN, provides the lowest TCO



B.Eliminates isolated islands of storage capacity

C.Utilizes available capacity inefficiently, leading to wasted storage resources
D.Scales more easily than networked storage

E.Integrates easily into enterprise backup and recovery processes

Correct Answers: C

14: Select the statement that best describes Network Appliance.

A.NetApp believes in doing everything in-house and therefore does not outsource operations
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(B. Net App offers NAS sol utions, but doesnt currently offer SAN sol utions



